364E

364

o
‘;.ﬂ,il:' pU
;Lé.ol J.xo
- - - - - - - —
Ay e g e g 2ol S how g ol sl 31
EAFANIANY (s;) ez plol

Sl A ) g
Sl s Sladss o dle iy
2355 Biaa) Jaonee Olels

[ "'qrJh-d&'é&w,gliM,’wu)lf‘slao”é‘so’”g,ojT ]

[ 1AL &5 (5 5lwrg 319 9 5398 9 gl (ot (uritigo ]

Y150 8 Lo g 310 o Slodiol Slga (ylgie

IO g Shawi |

Slans U [ oylewd 51 | Jgaw olaws Sl g0 @3,
Y. \ Y. (eall) (oS 5 oagos ol | )
0 R 10 355 Al s S | ¥
2o Atz Y- (s Jlsl c SVl Slke pp> JUl )it glaosy | ¥
A % Ve e SiPmaSe s oden | F
Ve N Y. Sealudges |0
o \-F Y- (¥oh) I oond (YY) Al o ¢ i Sbuslyy | 7

[ WAY Jlo ole ot ]

watly g lona i il 31 wolicid
el (e § o (g 5l0 O’“)‘ o)




Y axde 364E (wadSS)  panazs g cogos U]

Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

1-  Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.

1) unbearable 2) verbose 3) sturdy 4) lethargic
2-  Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate
3- The of coffee brought Christine into the small cafe.

1) aroma 2) fragility 3) whim 4) badge
4-  The client our proposal because they found our presentation banal and

unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected
5- Immediately overcome by for the wrong he had done, I lowered him to the floor

and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

6- A health inspector gave instructions on how to correct the problem; we all found
out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

7- 1 the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.
1) vanished 2 )squandered 3) forestalled 4) penetrated

8-  Why would lan want to claim his inheritance and then give all his money away? It was a

to me.

1) riddle 2) peril 3) glory 4) fragment

9-  He was later accused of writing loan and deposit records, found guilty and
sentenced to three years of imprisonment.
1) essential 2) fraudulent 3) vulgar 4) witty

10- The question of how the murderer had gained entry to the house the police for
several weeks.
1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark your answer sheet.

Scuba divingis a form of underwater divingin which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving, (11) rely either on breath-hold or on air pumped from

the surface, scuba divers carry their own source of breathing gas, (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit, in which
exhaled gas (13) the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide, and (15) replenished from a supply of feed gas
before being re-breathed.

11- 1) that 2) on which they 3) which 4) they

12- 1) allowing them 2) they allow 3) allowed them 4) to allow

13- 1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted

14- 1) where the gas breathing 2) which breathes the gas
3) the breathing gas which 4) in which the breathing gas

15- 1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen
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[ PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your

| answer sheet.

Passage 1:

Imagine a drug that is equally effective against bacteria, viruses and fungi, that does not
suffer from drug resistance, and which can be targeted locally, thus avoiding the side effects
associated with conventional antimicrobials. Such a drug would be presumably snapped up by
the pharmaceutical industry and health providers alike.

In fact such a class of drugs is available. Photoantimicrobial agents are photosensitisers -
chemicals that absorb radiation and then use it to cause chemical reactions, usually
accompanied by the production of reactive oxygen species (ROS) radical, such as the hydroxyl
radical, superoxide anions and singlet oxygen. In bacterial cells, for example, this may result in
oxidatine damage to the cell wall, DNA, ribosomes, and enzymes. Since ROS are oxidants,
they are non-specific in their activity at these sites, which guarantees activity, and means that it
is most unlikely that resistance could evolve.

The phenomenon of drug resistance refers to --—-—----—-—-- ;

1) microbes that do not kill drugs 2) drugs that do not kill microbes

3) drugs that are not killed by microbes 4) microbes that are not killed by drugs
Photo antimicrobial agents are ----=--===—mva-- -

1) microbes that kill other microbes

2) different from chemicals that are photosensitisers

3) chemicals that use light energy to drive chicmical reactions

4) chemicals that directly cause damage to bacterial cell walls

According to the first paragraph the pharmaceutical industry -------—---— -

1) should manufacture photo antimicrobial agents as drugs.

2) does not want to produce photo antimicrobial agents

3) will produce photo antimicrobial agents in the future

4) is already producing photo antimicrobial agents

Which of the following statements are FALSE?

1) Photo antimicrobial agents can be used against bacteria, virus and fungi.

2) Photo antimicrobial agents always cause the production of ROS.

3) Superoxide anions cause damage to bacterial DNA_

4) Conventional antimicrobial drugs have side effects.

The reason that photo antimicrobial agents do not produce drug resistance is that —--
1) they are photo sensitisers 2) their action is nonspecific

3) they have no side effects 4) they cause oxidative damage to the cell wall
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Passage 2:

Uncontrolled addition of water might cause problems in waste air biofiltration If excess
water is used, a leachate will be produced at the bottom which needs proper disposal. Excess
water also forms a liquid layer on the biofilm which introduces an additional mass transfer
resistance for the pollutant. Excess water causes a problem in another way. If the entering air is
not saturated the excess water would evaporate rapidly and cause the biofilm temperature to
decrease several degrees due to latent heat effects. This phenomenon can make the process
unstable.

Unsaturated air in a biofilter with excess water ----------- -

1) reduces its temperature 2) needs proper disposal

3) makes the process more stable 4) enhances the mass transfer resistance
According to the passage excess water in a biofilter —---------—-,

1) reduces mass transfer rates 2) enhances mass transfer rates

3) accelerates heat and mass transfer rates 4) prevents the formation of a liquid layer

How many consequences have been cited in the passage for uncontrolled addition of
water in waste air biofiltration?

1) one 2) two 3) three 4) four
"Disposal" in the passage can be substituted with -—----—- i

1) drying 2) separation 3) purification 4) treatment
The passage discusses —---———- ;

1) latent heat effects in biofilters

2) sensible heat effects in biofilters

3) the effect of water on the performance of biofilters
4) the negative effects of excess water in biofilters

Passage 3:

Many communities are burning garbage and other biological waste products to produce
electricity. Converting waste products to gas or oil i1s also an efficient way to dispose of
waste. Therefore, search for alternative sources of energy has led in various directions.

Experimental work 1s being done to derive synthetic fuels from coal, oil shale and tar.

But these processes are very expensive. Other experiments are underway to harness
energy with giant windmilis. Geothermal energy and heat from the sun are also being
tested.

Some experts expect utility companies to renew hydroelectric power derived from
streams and rivers. Fifty years ago hydroelectric power provided one - third of the
electricity used in the United States, but today it supplies only 4 percent. The oceans are
another potential source of energy. Scientists are studying ways to convert the energy of
ocean currents, tides and waves to electricity. Experiments are also underway to make use
of temperature differences in ocean water to produce energy.

Which one is the best title for the passage?
1) Efficient ways of disposing of waste. ~ 2) New discoveries in synthetic fuels.
3) The use of waste products for energy  4) The search for alternative sources of energy.
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In the second paragraph, the phrase "synthetic fuels" could be replaced best by which of
the following?

1) artificially-made fuels 2) biological fuels

3) fast burning fuels 4) low burning fuels

Which of the following is not mentioned in the passage as an alternative source of energy?
1) nuclear power 2) hydroelectric power

3) heat from the sun 4) energy of ocean currents

According to the passage, the difficulty to put into practice of using coal, oil shale and tar
as sources of man- made fuel is due to -=-=-=-=-nnn- -

1) the scarcity of resources 2) the lack of technology

3) their being money- consuming 4) their being time-consuming

What can he inferred from the last paragraph?

1) Hydroelectric power will be the main source of energy.

2) Synthetic fuels will be the main source of alternative energy.

3) Alternative energy will come from a variety of sources.

4) All alternative production of energy will be derived from water.
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